Substitute y value into one of the original
equations, for 8x+ 5y =-0.5:

1
= 8x+5(—5j:—0.5

=x=—

%2 y=8-3x, y=2-5x

Substitute for y:
2-5x=8-3x

—6=2x

x=-3
Substitute x value into one of the original
equations, for y=8 - 3x:
= y=8-3(-3)
= 8+9

=17
So the lines intersect at (—3,17)

5b y=7x-4,y=3x-2

Substitute for y:
3x-2=7x-4

2=4x

X=—
2
Substitute x value into one of the original

equations, for y=3x—2:

= —3(1)—2
Y=213

2 11
So the lines intersect at (5,—5]

5¢ y=2x+3,y=5—-x
Substitute for y:
5-x=2x+3
3x=2

X=—
Substitute x value into one of the original
equations, fory=5—-x:
2
= y=5-=
Y 3
13

3
2 13
So the lines intersect at (5,3)
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5d y+5=3x, y=-5x+7
Substitute for y:
3x—-5=-5x+7

8x=12
x=1.5
Substitute x value into one of the original
equations, for y=—5x+7:

= y=—5(1.5)+7
=-0.5
So the lines intersect at (1.5, —0.5)
1
5e y:5x+3, y=5-2x
Substitute for y:

1
—x+3=5-2x
2

5
—x=2
2
x=0.8
Substitute x value into one of the original
equations, for y=5—2x:
= y=5-2(0.8)
=5-1.6

=34
So the lines intersect at (0.8, 3.4)

5f y=3(x+2), y=7-2x
Substitute for y:
3x+6=7-2x
5x=1
x=0.2
Substitute x value into one of the original
equations, for y="7 —2x:
= y=7-2(0.2)
=7-04
=6.6
So the lines intersect at (0.2, 6.6)
Tryit1C
1a 14x* - 7x=7x(2x-1)
1b x*-5x+4=(x-4)(x-1)
1c x*-25=(x+5)(x-5)
2a 5x° +21x+4=5x"+20x+x+4
=5x(x+4)+(x+4)
=(5x+1)(x+4)

Bridging Unit: Algebra 1 a
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2b 6x*+7x-3=6x"+9x—2x-3
=3x(2x+3)-(2x+3)
=(3x-1)(2x+3)
2c 8x*-22x+5=8x"—-2x—20x+5
=2x(4x-1)-5(4x-1)
=(2x-5)(4x-1)
3a 6x°-12x=6x(x-2)
6x(x—2)=0
6x=00rx—2=0

x=0
orx=2

3b 4x*-23x+15=0

4x*—23x+15=4x>-20x—-3x+15
=4x(x-5)-3(x-5)
=(4x-3)(x-5)
(4x-3)(x—5)=0
4x—-3=00rx—-5=0
=
orx=5
4a x*-25=(x+5)(x-5)
When y=0, x*-25=0
(x+5)(x=5)=0
x=25
When x=0, y=-25
y

e
\V

4b x*>+10x+25=(x+5)
When y=0, (x+5)°=0=x=-5
When x=0, y=5"=y=25

y
y=x*+10x +25
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4¢c When y=0, 5x—x*=0

x(5-x)=0
=>x=0o0r x=5
y

y=5x—x%

0 g\ *

Bridging Exercise 1C

1a 3x* +5x=x(3x+5)

1b 8x* —4x=4x(2x-1)

1c 17x* +34x=17x(x+2)

1d 18x* —24x=6x(3x—4)

2a x°+5x+6=(x+2)(x+3)

2b x*—7x+10=(x-5)(x—2)

2¢ x*-5x-6=(x—6)(x+1)

2d x*+3x-28=(x+7)(x—4)

2e x*—x-72=(x-9)(x+8)

2f x*+2x—48=(x+8)(x—6)

29 x*-12x+11=(x-11)(x-1)

2h x*-5x—24=(x-8)(x+3)

3a x*-100=(x+10)(x-10)

3b x*-81=(x+9)(x-9)

3¢ 4x°-9=(2x+3)(2x-3)

3d 64-9x*=(8+3x)(8—3x)

4a 3x°+7x+2=3x"+6x+x+2

=3x(x+2)+(x+2)
=(3x+1)(x+2)

4b 6x° +17x+12=6x"+9x+8x+12
=3x(2x+3)+4(2x+3)
=(3x+4)(2x+3)

4c 4x*-13x+3=4x"-12x—x+3
=4x(x-3)-(x-3)
=(4x-1)(x-3)

4d 2x*-7x-15=2x">-10x+3x-15

=2x(x-5)+3(x-5)

=(2x+3)(x-5)

Bridging Unit: Algebra 1 c
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de 2x°+3x—5=2x*-2x+5x-5
=2x(x—-1)+5(x-1)
=(2x+5)(x-1)

4 7x*+25x-12=7x"+28x-3x—12
=7x(x+4)-3(x+4)
=(7x-3)(x+4)

4g 8x° —22x+15=8x"-12x—-10x+15
=4x(2x-3)-5(2x-3)
=(4x-5)(2x-3)

4h 12x*+17x-5=12x>+20x—3x-5
=4x(3x+5)—(3x+5)
=(4x-1)(3x+5)

5a 16x°—25=(4x+5)(4x-5)

5b 4x*-16x=4x(x—4)

5¢ x*+13x+12=(x+12)(x+1)

5d 3x*>+16x—35=3x"+21x—5x—35
=3x(x+7)-5(x+7)
=(3x-5)(x+7)

5e x*+x-12=(x+4)(x-3)

5f 100—-9x*=(10+3x)(10-3x)

59 2x°-14x=2x(x-7)

5h 20x”* —3x-2=20x"+5x—8x—2
=5x(4x+1)-2(4x+1)
=(5x-2)(4x+1)

6a 21x*-7x=7x(3x-1)

7x(3x-1)=0

1
x=0 or x=—
3

6b x*-36=(x+6)(x—6)
(x+6)(x—6)=0
X=—6 or x=6
6Cc 17x*+34x=17x(x+2)
17x(x+2)=0
x=0 or x=-2
6d 6x°>+13x+5=6x"+10x+3x+5
=2x(3x+5)+(3x+5)
=(2x+1)(3x+5)
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(2x+1)(3x+5)=0
5
X=—— or x=——
2 3

6e 4x*—49=(2x+7)(2x-7)
(2x+7)(2x-7)=0

6f x*—-7x-18=0
x*—=7x-18=(x-9)(x+2)
(x=9)(x+2)=0
x=9 or x=-2
6g x*-7x+6=(x—6)(x—1)
(x-6)(x—1)=0
x=6 or x=1
6h 21x*+x-2=0
21x* +x—2=21x"+7x—6x—2
=7x(3x+1)-2(3x+1)
=(7x-2)(3x+1)
(7x-2)(3x+1)=0

1
X=— 0or x=——
7 3

6i 5x°—-17x+6=0

5x°—17x+6=5x>-15x-2x+6
=5x(x—3)-2(x-3)
=(5x-2)(x-3)

(5x-2)(x-3)=0

2
xX=— or x=3
5
6j 16x*+24x+9=16x"+12x+12x+9
=4x(4x+3)+3(4x+3)
=(4x+3)
(4x+3)*=0
4x+3=0

3
X=——
4

6k 9x*—12x+4=0

9x*—12x+4=9x*-6x—6x+4
=3x(3x-2)-2(3x-2)

=(3x-2)°
(3x—2)% =0
3x-2=0
2
x==
3
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6l 40x*+x-6=0 7d y=(x+2)(x-2)
40x* +x—6=40x">+16x—-15x—6 When y=0, (x+2)(x—2)=0= x=%2
=8x(5x+2)-3(5x+2) When x=0, y=2x-2=—4
=(8x-3)(5x+2)
(8x—3)(5x+2)=0

3 2
X=—= Oor x=——
8 5

Yy y=x+2)(x-2)

7a y=x(x-3) -2
When y=0, x(x—3)=0=x=0o0rx=3
When x=0, y=0 -
y 7e y=(x+4)
y=x(x—3) When y=0, (x+4)’=0=>x=—4

When x=0, y=4>=16

y

N y=(x+4)?
0 3 16
7b y=—x(3x+2)
2
When y=0, —x(3x+2)=0=x=0 orxz—g
When x=0, y=0
y -4 '
7 y=— 2
y=—x(3x+2) y (2x+5)
x 5
b0 When y =0, —(2x+5)2:0:>x:—5
3
When x=0, y=-5°=-25
y
T X
7¢c y=x(3-x) %
When y=0, x(3—x)=0=x=0o0rx=3
When x=0, y=0
y y=-(2x+5)2 -25 -

y=x(3—-x)

79 y=(x-5)(x+2)

When y=0, (x—5)(x+2)=0=x=5or
9 3 x=-2

When x=0, y=-5x2=-10

Bridging Unit: Algebra 1 Q
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" 8c y=x>-121

. x°—121=(x+11)(x-11)
When y=0, (x+11)(x—11)=0=x==11
When x=0, y=-121

~10 4 y
y=(x=5)(x+2) \ /
7h y=(x+1)(5—-x) » 1 x
When y=0, (x+1)(5—-x)=0=x=-1or
x=5 y=x2-121
When x=0, y=1x5=5 "
y
y=+ 1) (5-2) 8d y=x"-3x-10

x*-3x-10=(x-5)(x+2)
When y=0, (x—5)(x+2)=0=x=5 or

. x=-2
_/ é\ When x=0, y=-10
y
8a y=x"+6x \ /
x°+6x=x(x+6) B X
When y=0, x(x+6)=0=x=0 or x=—6
When x=0, y=0 0 y=x2-3x-10
y

y=x2+6x

8e y=—x"+3x

—x*+3x=-x(x-3)

When y=0, —x(x—-3)=0=>x=0o0rx=3

v When x=0, y=0

y
8b y=3x"-12x Yoo 43k
3x2—12x=3x(x—4) /\
When y=0, 3x(x—4)=0=>x=00rx=4 9 3

When x=0, y=0
y

=3x2—12x
g 8f y=15x—10x>

15x—10x* =5x(3—-2x)

3
When y=0, 5x(3—-2x)=0=x=0 or x:E
When x=0, y=0

Bridging Unit: Algebra 1 a
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. 8 y=—x"+14x-49

y=15x-102 —x*+14x—49=—(x* —14x+49)
=—(x-7)
When y=0, —(x-7)’=0=x=7
; é\ x When x=0, y=-49
2 y

8g y=49-x°
49-x*=(7-x)(x+7)
When y=0, (7-x)(7+x)=0=>x=%7

When x=0, y=49
y

—49 -

“ 8k y=3x>+4x+1
y=49 — x? 2 2
3x +4x+1=3x"+3x+x+1
=3x(x+1)+(x+1)
_/ x ) =(3x+1)(x+1)
When y=0, (3x+1)(x+1)=0=x=-1or
8h y=—x*+2x+3 e L
~x*+2x+3=—(x*-2x-3 3
e (¥ ~2x-3) When x=0, y=1
=_(x_3)(x+l) y=32+4x+1 Y
When y=0, —(x-3)(x+1)=0=x=3 or
x=-1

When x=0, y=3 1+
y

y=-x*+2x+3

BN )
3

3
/ 8l y=—2x*+11x-12

7/1 3\ —2x*+11x-12=—(2x* ~11x+12)
| 2 =—(2x*-8x-3x+12)
8i y2:x —4x+4 2 =—(2x(x—-4)-3(x—4))

X —4x+4=(x-2) =—(2x-3)(x—4)

When y=0, (x—2)’ =0= x=2 3
eny (x-2) o When y=0, —(2x—3)(x—4)=0= x==or

When x=0, y=4 x=4 2

y When x=0, y=-12

y
y==2x2+11x-12

X

y=x2—4x+4 2

=
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